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RDENENDEZRD K.
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a) log,32=1o0g,2° =5 b) log,s5 = log,s257 = 1
<) logZ% =log,27? = -2 d) log, 16 =log, 4% =2
e) logss=1 f) log,2 =log, 4> =
g) log, % =log,37! = -1 h) logg v2 = log, Vst = logg 8¢ = 1
IRDICD x 2RO K.
a) log,x =3 b) log4x=—%
X ::23 =38 X ::4_% :::}i = %—
c) logyx =2 d) log,,x =3
x=32=9 x =273 = (3%)3 = 3%(= 19683)

WHDEREICKD, log, M =r, log, N =5 THDIEIEM =a”, N =a° BEDIIDTEICHR

5730, ZCT, M =d", N =a° &ET, BEEAZFNARLT, ROBLDOR/BOMEEZBE K.
a) log,(M x N) =log, M + log, N b) loga(%) = log, M —log, N

(F3D) = log, (a” x a*) (D) = 1oga(f7§)

—log,a™+s (. i5EwEAl) s

=log,a"~ (. 3580%A)
=r+4s (- WHDES) — ¢ WBOEE)
= log, M +log, N =log, M —log, N
= (B = (BiD)

c) log, M" =nlog, M

(Z53B) = log, (a")")

=log, a"" (CRF=5 =)
=n4 (- WHOESE)
=nlog, M
= (BiD)
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p=log,2, q=log,3LTBEE, RDE%Z p, q TKE.

a) log,8 =1log,2* =3log,2=3p b) log, 18 =log,(2 x3?%) = p + 2¢

c) log, 12 =1log,(2* x3) =2p +¢ d) log, 1.5 =log, % =log,3—log,2=q—p

MO LD ESTBE K.

a) log, % —logZ% = log, 3 —log,2? — (log,3—log,2) = -2+ 1=—1

! V5 _ Liog 5 (Liog 5 _
b) Elog35—log3T— 2log35 (210g35 log33)—1

) log,(3++/5) +1og,(3—+5) = log, (3 + v/5)(3 — ﬁ)) =log,(9—5) =log,4 =2

d) 3log 15 —logs 135 = 3(log, 3 + log, 5) —logs(27 x 5) = 3(logs 3 + 1) — (3logs3 + 1) =2

(6] RDE4DNAEBBICE L.

1 3 1 3
a) 5 log, 125 +log,, = —log, 0.3 = < log,, 53 +log,,3 —log,, 5 —log,, 0
= log,, 5 +log,,3 —log,, 5 — (log,,3 —log,, 10) = 1

A B C A B C
b) logaE—FlogaE%—logag=loga<§-?-j) =log, 1 =

WHDEEICKD, @%b = p PROITD. TOXDTELD ¢ ZEREITBDUHMERBDZEICLD,
log, b % log,a & log, b TKRE. [BONNIEOERATNEMNENS. ]

a'%8ab = b OEPDD log, ZED log, al°8ab =log, b. TNk D (log, b)log,. a = log, b.

log,3 =m DEE, log,6, log,27% m TKRE.

log,6  log,2+10og,3 14+m b) log, 2 = log, 2 _ 1
= = ;2= =

a) logs6 = log, 4 2 2 log,3 m

[(RiT&<]



9] BROEBRATNEBVTRDIEBE(CE .
log,a
log, b

a) log,b-log,a =log, b -

log,c log,a

b) 108,1 b- 10gb c- logc a = loga b- loga b 10ga C

B y = log, x [CDVWTRDRICHTIEED x DEENMTERE. 7=12L, 2% = 1.414 £ T3,

x | 0125 | 0.177 | 0.25 | 0.354 0.5 0.707 1 1.414 2 2.828 4 5.656 8

y| -3 | =25 =2 |-15| -1 | =05 0 0.5 1 1.5 2 2.5 3

RIRSEFIRLT, 1B5BI8 y = log, x DISIETERRD TEICH(T.

18 B M (kuwata.04f@g.chuo-u.ac. jp)

4DDBAH y =3%, y=37% y=log,x, y=—log,x DIST%HE(F.

X

I N

y =logy x

232 (HTHTOEED. 1272L. log,,2 = 0.3010 £T 3.

log, 232 = 41log;,2 =32 x 0.3010 = 9.632 7D T,
log;, 10° < log,, 232 < log;o 1010

BEDIID. ThiE 232 B 10 DT, SBRUOHZTH 2 THDEERLTVND.

WISH, HRIBOHS A% 1 KBBT I &I, %@%E@%%SE'ECL\'} ZDHS AL
tEhr-HOEEBRTDE, HEHHED % HUTFIZBDHENDD. 122U log,, 3 = 0.4771 £ETB.

1 MIBT IR EICHE (1%) [C5ZDT, n WERI-HSAERTT S ENEIITO (%)
73, ohi % RIS RIZE.

9 1 9 1
(ﬁ) < 3= logm(E) < logq 3= n(log;o 9 —log,, 10) < —log,, 3

= n(2log;p3—1) < —log,, 3

S —log;o3 _ —0.4771

= =1042...
= Jloge3—1 ~ 00458 "
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